
43 VIII – English

Name ________________________ Roll No. _______

WORKSHEET

UNSEEN PASSAGE

Oliver was a nine year old boy. He lived with other homeless boys in an
orphanage. He was pale and thin as were the other boys living there. This was
because they had to work hard but were never given enough to eat. The owner
of the orphanage, Mr. Bumble, was a cruel man and he ill treated the boys.

QUESTIONS :

1. How old was Oliver?

________________________________

2. Where did Oliver live?

________________________________

3. Why were the other boys living there looked pale and thin?

_________________________________________________________

_________________________________________________________

4. Who was Mr. Bumble?

________________________________

5. Give the Opposite of “Hard”.

________________________________.
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